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Note:- Marking scheme are as like (No. of questions x Marks = Total Marks.)

ENGLISH
(SECTION - A) (25 MARKS)
I) Choose the correct word for each blank
II)  Write true and false.
IIT) Word meaning.
IV) Make sentence
V)  Answer these questions. (Any five)
(SECTION - B) (25 MARKYS)
I) Definition.
(a) Adverb
(b) Simple past tense

II) Fill in the blanks with the simple past tense of the given verb.

IIT) Fill in the blanks with can/cannot/may/may not
IV) Fill in the blanks with is/am/are
V) Fill in the blanks with correct option
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SOCIAL STUDIES

Multiple choice questions
True or false

Fill in the blanks

Answer in one word

Short answer type questions
Give reason

Long answer type questions
Map work

MATHS

MCQ
Add
Subtract
Multiply
Divide
Word Problems

COMPUTER

Choose the correct option:

Fill in the blanks:

True and False:

Match the following:

Write the full form of the following:
Rearrange the letters to get correct word.
Guess who am I?

Answer the following questions: (Do any five)
Identify the picture and write their names:

SCIENCE

Multiple choice questions.

Fill in the blanks.

True or False.

Give one word answer.

Match the following:

Short answer questions (Any five).
Long answer questions (Any two).
Diagram.
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